

Familias de Operaciones (E)

Rellene los espacios para completar cada familia.

2 1 3

$$\begin{array}{r} 2 + 1 = \underline{\quad} \\ 1 + \underline{\quad} = 3 \\ 3 - \underline{\quad} = 1 \\ \underline{\quad} - 1 = 2 \end{array}$$

4 4 8

$$\begin{array}{r} 4 + \underline{\quad} = 8 \\ 4 + 4 = \underline{\quad} \\ \underline{\quad} - 4 = 4 \\ 8 - \underline{\quad} = 4 \end{array}$$

3 4 7

$$\begin{array}{r} 3 + \underline{\quad} = 7 \\ \underline{\quad} + 3 = 7 \\ \underline{\quad} - 3 = 4 \\ 7 - 4 = \underline{\quad} \end{array}$$

1 1 2

$$\begin{array}{r} 1 + \underline{\quad} = 2 \\ \underline{\quad} + 1 = 2 \\ 2 - \underline{\quad} = 1 \\ \underline{\quad} - 1 = 1 \end{array}$$

5 3 8

$$\begin{array}{r} 5 + 3 = \underline{\quad} \\ \underline{\quad} + 5 = 8 \\ 8 - 5 = \underline{\quad} \\ 8 - \underline{\quad} = 5 \end{array}$$

5 1 6

$$\begin{array}{r} 5 + 1 = \underline{\quad} \\ 1 + \underline{\quad} = 6 \\ \underline{\quad} - 5 = 1 \\ 6 - \underline{\quad} = 5 \end{array}$$

4 5 9

$$\begin{array}{r} \underline{\quad} + 5 = 9 \\ 5 + \underline{\quad} = 9 \\ 9 - 4 = \underline{\quad} \\ \underline{\quad} - 5 = 4 \end{array}$$

4 1 5

$$\begin{array}{r} \underline{\quad} + 1 = 5 \\ \underline{\quad} + 4 = 5 \\ 5 - \underline{\quad} = 1 \\ 5 - 1 = \underline{\quad} \end{array}$$

3 3 6

$$\begin{array}{r} 3 + 3 = \underline{\quad} \\ 3 + \underline{\quad} = 6 \\ 6 - 3 = \underline{\quad} \\ 6 - 3 = \underline{\quad} \end{array}$$

2 3 5

$$\begin{array}{r} \underline{\quad} + 3 = 5 \\ 3 + 2 = \underline{\quad} \\ 5 - 2 = \underline{\quad} \\ 5 - \underline{\quad} = 2 \end{array}$$

5 5 10

$$\begin{array}{r} 5 + 5 = \underline{\quad} \\ \underline{\quad} + 5 = 10 \\ \underline{\quad} - 5 = 5 \\ 10 - \underline{\quad} = 5 \end{array}$$

2 4 6

$$\begin{array}{r} 2 + 4 = \underline{\quad} \\ \underline{\quad} + 2 = 6 \\ 6 - 2 = \underline{\quad} \\ \underline{\quad} - 4 = 2 \end{array}$$

Familias de Operaciones (E) Respuestas

Rellene los espacios para completar cada familia.

2	+	1	=	3
1	+	2	=	3
3	-	2	=	1
3	-	1	=	2

4	+	4	=	8
4	+	4	=	8
8	-	4	=	4
8	-	4	=	4

3	+	4	=	7
4	+	3	=	7
7	-	3	=	4
7	-	4	=	3

1	+	1	=	2
1	+	1	=	2
2	-	1	=	1
2	-	1	=	1

5	+	3	=	8
3	+	5	=	8
8	-	5	=	3
8	-	3	=	5

5	+	1	=	6
1	+	5	=	6
6	-	5	=	1
6	-	1	=	5

4	+	5	=	9
5	+	4	=	9
9	-	4	=	5
9	-	5	=	4

4	+	1	=	5
1	+	4	=	5
5	-	4	=	1
5	-	1	=	4

3	+	3	=	6
3	+	3	=	6
6	-	3	=	3
6	-	3	=	3

2	+	3	=	5
3	+	2	=	5
5	-	2	=	3
5	-	3	=	2

5	+	5	=	10
5	+	5	=	10
10	-	5	=	5
10	-	5	=	5

2	+	4	=	6
4	+	2	=	6
6	-	2	=	4
6	-	4	=	2